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SAMPLE PAPER- OOE

(MATHEMATICS )

A Highly Simulated Practice Questions Paper
for CBSE Class Xll (Term |) Examination

Instructions

1. This question paper contains three sections - A, B and C. Each section is compulsory.
2. Section - A has 20 MCQs, attempt any 16 out of 20.

3. Section - B has 20 MCQs, attempt any 16 out of 20.

4. Section - C has 10 MCQs, attempt any 8 out of 10.

5. There is no negative marking.

6. All questions carry equal marks.

Maximum Marks : 40
Time allowed : 90 min

Roll No.

Section

In this section, attempt any 16 questions out of Questions 1-20. Each question is of 1 mark weightage.

1. If Ais a 3x2matrix, Bis a 3 x 3 matrix and C is a 2 x 3 matrix, then the elements in A, B
and C are respectively

@) 6,9,8 (b) 6,9,6 © 9,66 ) 6,6,9
2. Ifx=asinBandy=a cos? 6, then ? is equal to
X
(a) =2 cosB (b) 2 cos6 (c)2 sinB (d) -2 sin6
a1 a1
3. The value of cos| sin ' —— + cos ™ —) is
[ e
(@o (b) 1 (-1 (d) None of these
4. The principal value of sin_l(—gJ is
27 b 47 5m
_sn b -~ 2t d) 22
(a) 3 (b) 3 (c) 3 (d) 3
1 -1
5. IfA _| 1, then A? is
lo 4]
1 5 b 1 -5 0 16 d -5 1
@10 16 ®1y 16 ©1 D6 o
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10.

11.

12.

13.

14.

15.

a blla -b|.
The product is equal to
=b allb a
a2 +b2 0 (@a+Db)? 0
b
(a)|: 0 a® + b2 (®) (a+b)2 0
a?+b* 0 a 0
© LZ +b% 0 @ 0 b
2 3 , o
If A =[ 4 6} then which of the following is true?
(a) A(adj A)#1 Al (b) A(adj A) # (adj A) A
(c) A(adj A)=(adj A) A=1AII (d) None of these

If v/x +.,fy =1, then % at (5, 5) is equal to
X

(a) 1 (b) 0 (©) 2 -1
1 3 -2
If My, =—-40, M, =—10and M5 =35 of the determinant A=|4 -5 6|, then the
3 5 2
value of A is
(a) —80 (b) 60 (c) 70 (d) 100
1 a be
If A={1 b ca| then the minor M, is
1 ¢ ab
(@) —c(a® -b?) (b) c(b* -a?) (© c(a®+b%) d) c(a®-b?)
(0 0 4
The matrix P=|0 4 O0Ofisa
4 0 0
(a) square matrix (b) diagonal matrix
(c) unit matrix (d) None of these

Ify=(x? +1)?, thenﬂatx =lis equal to
dx 2
5 5 2
= b) 5 = d)=
@7 (b) ©7 (d) <

The equation of tangent to the curve y =x? +x —2at (1, 0) is given by
(a)3x-y=3 (b)3x-y=-3 ()x-3y=1 (d) None of these

Which one of the following statements is correct?
a) e¢* is an increasing function
g
b) ¢ is a decreasing function
g
) ¢* is neither an increasing nor a decreasing function
g g
(d) e is a constant function

Ifsin™' x = y, then

(a)0<y=<x (b)_TnSysg (©0<y<m (d)_7n<y<E

TARGET MATHEMATICS , Dr. AGYAT GUPTA

The Excellonce Hey... (M.Sc, B.Ed., M.Phill, P-hd)

/



Resi.: D-79 Vasant Vihar ; Office : 89-Laxmi bai colony
visit us: agyatgupta.com;Ph. :7000636110(0) Mobile : 9425109601(P)

[2(x+1) 2
16. If A= Crd) = } is a singular matrix, then Yis equal to
| x x=2 2
(@)-2 (b) -3 (-1 (d)0
1 2 +1 4
17. If A= and B = * , then the value of y —x, if A> =Bis
13 1 6 y
(@0 (b) 1 (02 (d)3
18. If Ais an invertible matrix of order 2, then det (A™") is equal to
(a) det (A) (b) detl(A) (o1 (d) zero

2 1 4 7
19. If2X + = , then X is equal to
3 5] |11

1 3 ot 3 1 -1 alt 3
Ol T @ 5| @3]

20. The greatest integer function f : R — R, given by f(x) =[x] is

(a) one-one (b) onto
(c) both one-one and onto (d) neither one-one nor onto

Section

In this section, attempt any 16 questions out of Questions 21-40. Each question is of 1 mark weightage.

21. If the curve ay + x> =7 and x° =y, cut orthogonally at (1, 1), then the value of a is

(@1 (b) 0 (-6 (d)6
2
22, Ify=cos™ 1-x , then 4y at x =1is equal to
1+x? dx
(@0 (b) 1 (©3 (d)-1

23. If f(x) =lsinxl, then

(a) fis everywhere differentiable
(b) fis everywhere continuous but not differentiable at x = nn, ne Z

(c) fis everywhere continuous but not differentiable at x = (2n +1) g, nez

(d) None of the above
kcosx . i
, fx#—
24. The function f(x)= m-2x 2 is continuous at x = E, when k equals
3, ifx=" 2
2
(a) -6 (b) 6 (5 (d) -5

25. Ify=x", then ? is equal to
x

(@) x* (1+ logx) (b) x*(1-logx)
(c) x(1+ logx) (d) None of these
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(log)
X

26. The maximum value of
2 1

(@)1 (b) = (c)e (d) =

e e

27. If y=x(x - 3)? decreases for the values of x given by

(@)l<x<3 (b) x <0 (c)x>0 (d)0<x<§

28. The relation R in the set of natural numbers N defined as R ={(x, y) : y=x + 5and x < 4}
is
(a) reflexive (b) symmetric (c) transitive (d) None of these

29. The maximum value of the function f(x) = x3 +2x? —4x + 6 exists at
(@)x=-2 (b)yx=1 (c)x=2 (d)x=-1
30. Area of the triangle whose vertices are (a, b + ¢, (b, c+a) and (¢, a +b), is
(a) 2 sq units (b) 3 sq units (©0 (d) None of these

11
31. The set of all 2 x 2 matrices which is commutative with the matrix [1 O} with respect to

matrix multiplication is

P q P q p—-q p p q
ol e oyt el
-1 -1 -1 1 —~1( . _E .
32. The value of tan (ﬁ) + cot (ﬁ) + tan (sm( ZD is

0L T

(a) g () E
b1 T

(- o (d) 3

33. IfAz[(l) 11} and f(x)=1-x2, then f(A)is

@ [3 (1)} (b) [8 8} (© |:31) i:' (d) None of these

34. For the set A=1{1, 2, 3}, define a relation R in the set A as follows
R= {(11 1), (2,2),3,3), (1, 3)}
Then, the ordered pair to be added to R to make it the smallest equivalence relation is

(a) (1,3) (b) (3, 1) (©) (2, 1) (d) (1, 2)
a h g
35. If A=|h b f|, then the cofactor A, is
§ f «
() =(he+ f2) (b) hf -bg (©) fg+he (d) he—fg
36. If y=Ilog(sine), then % is equal to
x
(a) e* cot(e™) (b) —* cot(e™)
(c) ¢* tan(e™) (d) None of these

TARGET MATHEMATICS ,, Dr. AGYAT GUPTA |

Jhe fxcellonce Hey... (M.Sc, B.Ed., M.Phill, Phd)



Resi.: D-79 Vasant Vihar ; Office : 89-Laxmi bai colony
visit us: agyatgupta.com;Ph. :7000636110(0) Mobile : 9425109601(P)

37. The number of all one-one functions from set A ={1, 2, 3} to itself is

(a)2 (b) 6 (93 (d)1
38. Ify=Ilog, x +log,a +log, x +log, a, then Z—yis equal to
X
1
(a) 1+xloga (b) ﬂ+L
X x  loga
(c) +xloga (d) None of these
xloga
3 2 dy -b .
39. Ify=ax" +bx”~ +cx +d, then —- at x =—is equal to
dxz 3a
(@1 (b)2 ()3 (d)0

40. The differential coefficient of sin (cos(x?2)) w.r.t. x is.
2 (b) 2xsin(x?) cos(x?)
(d) None of these

(a) —2xsinx cos(cosxz)
(c) 2xsin(x2) cos(xz) cos X

Section

In this section, attempt any 8 questions. Each question is of 1 mark weightage. Questions 46-50 are based
on Case-Study.

4 —x? .

41. The function f(x) = 5 is

dx —x
(b) discontinuous at exactly two points
(d) None of these

(a) discontinuous at only one point
(c) discontinuous at exactly three points

42. The equation of the tangent to the curve x* —2yx +y? +2x +y—6=0at (2, 2) is

(a)2y+x=6 (b)2x+y=6
©xry=s @ TARGET
x -x dy . A\
43. Ify* =e’™ 7%, then —Z is equal to /
dx 2 . MATHEMATICS
Lt 108y ) (Lriosn? /N
ylogy ylogy ,
o Lt losy (@ (L1osy)” THE EXCELLENCE KEY
(logy)* logy

M :9425109601, 9425110860
2

44. Ify=Ae™ + Be'™ and 4’y (m + n) dy +mny =k, then k is equal to

o dx
(@) 1 (b) 0
(0 -1 (d) None of these
45. If cosy = x cos(a + y) with cosa #1, then 4 is equal to
.2 2
sin”(a + cos“(a+
(a) M (b) (—V)
sina sina

(c) sinz(a +y)sina

(d) None of these
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CASE STUDY

If feasible solution of a LPP is given as follows:
Y

2x +y =280
50 A
404
30 1
20 B(30

10 1

. 20)

And the objective function is Z =10500x +9000y.

Based on above information, answer the following question.

46. The feasible solution consists
(a) (10, 10)
(c) (0, 55)

47. Objective function is maximum at the point
(a) (0, 0)
(0 A

48. Objective function has the value 420000 at
(a) point A
(c) point C

(a) 200000
(c) 205000

50. Sum of values of Z at all corner points is
(a) 1365000
(c) 1355000

(b) (50, 10)
(d) (30, 21)

(b) (30, 20)
(d)C

(b) point B
(d) point O

(b) 195000
(d) 190000

(b) 1360000
(d) 1350000

4+ Q
- 639 1
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